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QUESTION 1

How are records marked for deletion?

A. Vertica removes the file that stores the deleted data.

B. Vertica rewrites the files that contained the deleted records, ignoring records to be deleted.
C. Vertica deletes the records from the original source files.

D. Vertica creates a delete vector, identifying records to be deleted.

Correct Answer: D

QUESTION 2

What is the process to add hosts to an existing cluster? (Select two.)
A. Restart spread on all hosts in the cluster.

B. Recreate all projections on the new hosts.

C. Update spread.conf on the new host(s) only.

D. Install Vertica on the new hosts.

E. Redistribute data to the new host(s).

Correct Answer: AE

QUESTION 3

What are the benefits of loading data into WOS?

A. The data is cached in memory for quick access.

B. The data is able to be queried as soon as it is loaded.
C. The data is broken out into projections.

D. The data is sorted.

Correct Answer: A

Reference:https://my.vertica.com/docs/6.1.x/HTML/index.htm#10825.htm#020112

QUESTION 4

What does Event Series Join do?
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A. enables analysis of two series of data when their measurement intervals do not align
B. evaluates the values of a given set of variables and groups those values into a window
C. enables identification of a sequence of defined events

D. increments a counter based on whether an expression evaluates as true

Correct Answer: A

Reference:http://www.vertica.com/wp-content/uploads/2011/06/Whats-New-in-Vertica-50.pdf(page 1, see event series
join)

QUESTION 5

What is available on the Jobs chart in the Management Console? (Select two)
A. loading status and errors

B. resource pool usage

C. memory usage

D. recovery progress and errors

E. query performance

Correct Answer: AD
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